
Number System 
Ex. 1.3
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Ese . 1.3

1. 0 13¥ =
0-36

,
which is a terminating decimal.

④ ¥, =
0.09

,
which is a non- terminating and
recurring decimal .

④ ytg = 4-1-25 , which is a terminating decimal
.

④ 23 = 0.230765 ; which is a non
- terminating

and recurring decimal .

① ¥, ± 0 - 1J
,
which is a non- terminating
and recurring decimal .

④ 3,2¥ = 0.8225
,
which is a terminating decimal .

2.) ¥ = 0.14285T

Yes, we can predict the decimal expansion'

of ¥ , }= , ¥ ,§ and - without actually doing

the long division .

¥ = 2✗ If = 2×0-142857 = 0.28571T

37 = 3×1-7 = 3×0-142857 = 0.42857T

¥ = 4×1-7 = 4×0-142857
= 0.57142T

§ = S ✗ ¥ = 5×0-1428-57 = 0.71428T

= 6×1-7 = 6×0-142857 = 0 - 85714T
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3① Let K = 0 . -6 - ①

Multiplying both sides by 10
10K= 6. 6- - ④

Subtracting equation ① from equation ④
10K - k= G - J - O -J

9k = 6

I = ¥23
sc = 2-3

i. 0.5=2-3 , which is in the form §
0€
Let a= o -E - ①

Multiplying both sides by to
10K= G. G-

1-OK= 6 -10.5

1-ok= 6 -1k ( using equation D)
. 10k - k = 6

9 x=6

E- 6¥23
✗= 2-

3

i. 0.5=2-3 , which is in the former Pq
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④ Let x= 0.4T

Multiplying both sides by to
10K = 4. 7- - 1

Multiplying both sides of equation by to
took = 47 -I - ④

Subtracting equation ① from equation it

1003C- 10K = 47 - I - 4.I

90K = 43

x= 493-0
:

. 0.47=493-0 , which is of the form g-
0€
Let sc= 0.4T - ①

Multiplying both sides by 10
10 x= 4. 7-7-

103C= 4-3-10 -YI

1-OK = 4.31-a (using equation ①)
tox-x= 4.3

9x = 4.3

a = 41
90

:
.
0.47=43

,
which is of the form g-90
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111 Let 3C = 0.00T - ①

Multiplying both sides by 1000
1000k = 1.00T -①

Subtracting equation ① from equation ④
10003C - x= 1.00T - 0.007

999k = 1

"= ¥qq
i. 0-00-1=4--99 , which is of the form §
0¥

Let k= 0.007 - ①

Multiplying both sides by 1000
1000K = 1. 007

1000kt 1 -10.00T

1000k = It x ( using equation ①)
1000K - x = 1

999k = 1-

a-¥
i. 0-00-1=4--99 , which is of the form §cb
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4 . Let x= o -9- - ①

Multiplying both sides by 10
10x = 9- 9- -④

Subtracting equation ① from equation④
100C- x= 9. 9- - O -9-

92=9

x= # ±
x=1

Yes , as the value of 05=1
Reasons :
0.5=0.99999 - - - - - -
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We observe that as the number of digits increase
in the terminating decimal , the value of 0T

affroaches closer to 1-

i. OF ≈ 1
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s . The maximum number of digits in the
reheating block of digits in the decimal

expansion of ¥, is
16 .

( Reason : The maximum number of digits in the
reheating block of digits in the decimal

expansion of a rational member is one

fess than divisor i. e. g)

¥ =
0.0588235294127647

0.0588235294117647

1<00

-8£

150

-13€

140

-131 20

40 -1€

-31 30

60 -1€

-51 130

90 -111

110

-8%
, -1€

-31 80

180 #
120

-15g
-11%

-68-2

cb
se

as
sis

tan
ce

.co
m



6- 23=0-4 Factors of vq in each member are
5

¥ = 0 -48

25=52

1%5 = 0.024
125=53

¥ = 0-7

10=2×5

1¥ = 0^19

100=22×52

13070-5 = 0.037 1000=23*53

3-2 = 1^5
2

3-4 = 0-75
4=22

13g = 1.625
8 = 23

The factors of rq are 2 or 5 or both 2
and 5 .

7- Three numbers whose decimal expansions are
non- terminating non- recurring are
0 - 57557555755557 - - - - - - -

23 . 14114111411114 - - - - --

7- 29 2292229 22229 - - - - - -
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8 5-7=0-71428T

91-2=0.8181 - - -- -

Three irrational numbers are
0-7215115111511115 - - - --

O - 7032332333233332 - - - - -

O - 7948448444844448 - - - - - -

9 ① TE = 4.79583152331272 - - -

Since the decimal is non- terminating
non - repeating
i. 523 is an irrational number .

① if = FEES = 3×5=15
,
which is rational

i. 7225 is a rational number .

④ 03796

Since the decimal is terminating .

i. 0.3796 is a rational number.

④ 7.478478 - - -- - -

since the decimal is non- terminating retreating .

i. 7.478478 - - - - is a rational member .

① 1.101001000100001 - - - - -

Since the decimal is non - terminating
non - reheating .

i. 1.101-001000100001 - - - is an irrational number .
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